1 Complete the sentences with the correct word from the text.

a) Severe winter weather is expected in the northeast of the country.

b) Only 25% of the price a pays for vegetables goes to the farmer.

c) After the ship crash oil was into the seaq.

d) | found my old English notebook and because | don’t study English anymore.
e) The librarian had to around 100 science books because they damaged.

2 Complete the sentences according to the text.

a) Electronic waste shouldn’t be thrown into garbage because

b) The e-waste in some parts of Asia has increased by 63 percent because

c) Throwing away e-waste is dangerous for the environment because

d) | my old electronic devices.




